ENTREPRENEURSHIP
CLASS XII (2024-25) MODEL
QUESTION PAPER

TIME: 3 HOURS MM. =70
GENERAL INSTRUCTIONS:

(i)

getermeff Jargiaid 31Ual efesi # 3d¢ €1 /| Candidates should answer in their own
words as much as possible.

(i) Toft usat sifolare €1/ All questions are compulsory.
(iii) opos Ul bt & 48 €1 [ Total number of questions is 48.
(iv) 9851 &1 1 & 25 dob dgfddbedta st €1 Ucdch Ussl & dTe faddpey ot I1E g1 et

fAded BT Tl Pl T USST &b ST 01 3idh fareffed €1 / Question numbers 1
to 25 are multiple-choice questions. Each question has four options. Select
the correct option. Each question carries 01 mark.

(v) UsaT 2T 26 & 34 dch 3ifd &Y IANT Usel &1 Soldl & fbogl 7 UGl bl 3L Gall

sifotaref g1 Tddh UssT & T 01 3 faelffed g1/ Question numbers 26 to 34 are

very short answer questions. Out of these, it is mandatory to answer any 7
questions. Each question carries 01 mark.

(vi) U%aT ST 36 & 42 A oY AT U gl gaidt & fobogl 6 UGl bl JaL Gall

3ifotaref g1 Uddh Usal & fT 03 3iah farerffed €1 / Question numbers 35 to 42 are

short answer questions. Out of these, it is mandatory to answer any 6
questions. Each question carries 03 marks.

(vii) T%eT TAST 43 T 48 dd <" AT USS gl Sold & fdhog! 4 USall oI 3Ide Coll

sifataref g1 Ui Usal & f3T 05 3iap fareffed €1 / Question numbers 43 to 48

are long answer questions. Out of these, it is mandatory to answer any 4
questions. Each question carries 05 marks.

Q.N.

QUESTIONS

MCQ

“In a partnership form of business, each partner can bind the firm and other
partners by his/her acts.” In the context of this statement, identify the essential
feature of a partnership business organisation referred to and choose the

correct option: | "TSICIdl SUAHTT &, UAD ATSIGIE Yol DHIAT gIel W 31T 3
TSIl I e de Thdl gl 5 el & el A aTeerdt suadrd datoe ot 3d
3TTeTD fAITdT ohl UgdTel doe 311 Tel fadhed ol I dhe:

(a)Implied authority / faifgd sifelare

(b)Utmost good faith [ T2dT TGHTAGT
(c)Mutual agency [ Ug&e Tuid]
(d)Separate legal entity / Jeioh hlcloft 3fedcd




Sudha Dairy Farms have been in the business of processing pure ghee using
the ‘Bilona technique’. The cost per kilo of ghee comes out to be  2000. The
owners have estimated that a reasonable profit margin will be 25%. So, they
have decided to sell the product at Z 2500 per kilo. | Toldfc3T STt Wraf eIl
ddhofich’ Tl 3T hedh 2les Hl T Yeideheul ohe 28 gl Hff bl Ufd fhesl BrTd e 2
2000 3(TdT g1 AP of UG AT BT & fob 25% I8 ATfolal IULTh TN ST
Jogiol 581 T 2500 Ufd fobes! Saret o foiufar febarm &1

Which of the following is a drawback of this pricing strategy? / foldoifesfEd & &
ol 2l 58 o ferfeur Turefifa ot T et g2

(a) It attracts only the bargain hunters who switch to other brands if the price
rises./ Ig HAcs 3IoT ATgh! DI HTBITd hedl g Uil eearuit T dbed & 3¢ hiad
S0l UE 37c Sl o 3ile Ted Td &l

(b) Is not a viable option if there are strict legal and government regulations./
fe & Dlofolt 31C debIe! fodel S gl dl g Teh ATagIfeah fddhed gl gl

(c) It does not take into account the competitor's pricing and actions./ Ig
gfdeufefal & Ao farelfeur 3ie IoTds hadil bl &aTel o STet Zadll

(d) It leads to a series of counteroffers that sometimes result in no sale./ Jg

s vfayuedidl i fRIfd Icioat ded g, Tl dwafl-wphaft fadht A fawhes &l ord &l

Which of the following plans helps organize work to clearly form an idea about

the plan layout? / faidaTf3fEd & & Diol-2ft AloTell I bl 58 dde A Tdied
Feol A IACE Ded! & b BIg TU ST & ANoTell B33 & a1 H fAaTe Foll s
(a) Operational [ UfdTTcsel

(b) Production [ 3dTgal

(c) Marketing / faquTel

(d) Financial / fadta

Codes [ BIs:

a) Only 1/ Bhde 1

b)2and 3/23iE3
c)land 4 /130T 4
d) Only 4 / &dc 4

Under this franchising model, the manufacturer authorizes the store owner to
distribute goods produced under their brand name. / 88 WATSAIT Alges b dgd,
fotaTfar ecie HTfchah ohl JoTdh iE oild & dgd failaid dTles fadfed dheol ol 3ifeiohTe aaT &l
(a) Product franchise business opportunity / 3cT¢ WTgel TN Bl HTHT

(b) Manufacturing franchise opportunity / fTAfaHAfUT ShaTset 3T

(c) Business franchise venture | ST $dTSu 38

(d) Business format franchise opportunity / ST UT&Y thaTsel 3T




Sam, an MBA student at Quantum University, reads about a principle stating that
80% of a business's profit comes from 20% of customers. Help Sam identify this
principle. | &, Wl odicd gfotafdicl & CHEIT b1 B1F g, Teb [degid o a1 # Uadl &
forerat ahgT T & b faseft caeia T 80% T8l 20% JTED! & ATAT &1 T bl Feg de
3¢ g fdeid ohl UgeiTel &el

(a) Profit principle [ @181 fdegid

(b) Pareto’s principle / el oI fdesid

(c) Harley’s principle [ €T3 ol fdeid

(d) smith’s principle / f&te o7 fesid

Codes | is:

a) Only 2 [ &dds 2
b)land2 /132

c) Only 3/ &de 3

d) All of these [ O Haft

~ Routing is an element of which component of a business plan? | &fEIT g
ZToTeTl o fdsdl Tcdh bl T dcd &7

(a) Production [ 3dTcel

(b) Operational plan / GfédTesel AT

(c) Organizational plan [ EIT&6TT@Td TloTell

(d) Financial plan / fa<fla dioter

Which of the following is not a component of a financial plan? / faldsifafEd & &
Piol-AT facl i ANoTeTT T ITh oTg! 8?

(a) Economic and social variables | 31fefe 3ie ATATTA® T
(b) Follow-up / 3feladf

(c) Break-even analysis | Sob-gdol fdacyyuT

(d) Proforma investment decisions |/ 9T foldel faufg

Alig, running a homemade papad business in Pune, struggles to introduce new
flavors due to limited financial resources. Which characteristic of her business
does this highlight? | 3(TfeSdT, Tl YUT & T T doll YIS A Il 2al g, Htfdd fadia
el b BILUT ol Tevae Uel dheal A 2t dhed! gl Ug fRIfd 3dd aadmd ol phier-2ft
faeryar & gerfdt &2

(a) Individual management and control [ &fchITd Weere 3¢ foldzor

(b) Easy formation and closure /| 3{T&TaT IGeT 3{12 EHTUST

(c) Limited area of operation | HifAd sl &7

(d) Unlimited liability / 3rftfdd ¢aar




From the given data, calculate the economic order quantity (EOQ) for the

company. [ &t ITE GITeTehTet b 3MMeITE Ue, chleit o fST 3iTfefeb 3Téel AT (E0Q) oht
I[UTeTT e

e  Costof product = 12000 units at Z1000/unit / 3cTE bl BHTd = 12000 Jfoic Ufd
gfele 21000

° Cost of ordering = 500 per order | 3{Te¢ BT = 500 Yfd 3iise

° Holding cost = 2300 per annum [ TEZETT BITd = 2300 gfa af

Options [ fdde:
(a) 400
(b) 250
(c) 300
(d) 200

10.

Hargold Company continuously improves its bread range and introduces new
variants like atta bread and garlic bread. What is the source of their idea in the
market? | glfeg chYaft SITTATE 3Uclt §iS 2oT o EETE ohe Zel & 311 31T 88 31T 5edel 38
SId o6 Afdte el ohe ¢gt &1 aTotie & 3o1dh faaTe T 2iid ol &2

(a) Market driven [ SToTIE Ufed

(b) Creative efforts [/ Tl D TATH

(c) service driven [ &ar 9fed

(d) Natural resources [ UTdhfdd datere

Codes [ is:

a)land 2 /13fE2
b) Only 2 [ &dc3 2
c) Only 3 / de 3
d)3and 4 /33T 4

1.

Hargold Bakers produce 50 cakes daily and sold 49 cakes on Monday with a

gross profit of 21200 per unit. What were the fixed expenses of the bakery? /

gIlfee Sobef Ufdfcal 50 dbab Tolld & 31T &IeTdTe ol 49 dheh Sddhe Ufd gfele 21200 T
s I AfAid dhed gl dbdl & fafdd & opaT

Options [ fddeT:
(a) 257000
(b) 24480
(c) 258800
(d) 259000




12.

The element of the financial plan that describes how the enterprise funds will be
allocated to different assets so that the enterprise can earn the highest possible
return is known as: | TaT JIoToll BT I dcd Uil Ul doedl & fds bl 380 & &cf Bl

fafetost ufedufaar 3f sidfed fobar AT difds 3erat sifelcbddl Feid w187 hdll dab, 3

el AT &:

(a) Investment decision /[ faiaer faiufa

(b) Financing decision /[ faaaiyu faiufy

(c) Income statements / 3T fdaeor

(d) Cash flow statement / sTchet UdTg fdaeor

13.

........... indicates the percentage of return on total capital employed in the
business. [ ........ I 3 opos fordel Yuit Ue Ufderd araeft ol sfatd dhed 8l
(a) Unit cost [ gfele BT

(b) Return on equity / gfaact ue arueft

(c) Average cost [ 31dd BRI

(d) Return on investment / faldel ue argett

14.

Which of the following is an advantage of issuing shares through a ‘Rights issue’?
| TTECH 5o o ATIH & 21T ATt thial bl foldatiosiiad 3 & dlal AT BT &7

(a) Itis an inexpensive method of issuing shares. [ Tg &1Ie HTdl ot bt ded! fafel
gl

(b) It leads to higher employee motivation and lower labor turnover. | Tg 3
HHATE VU 3¢ B YH TSIl G2 bl hI2UT doldl 8l

(c) It results in higher valuations of companies and better prestige. [ Tg Ufardl
& I Fcdidhol 31T dgae UfAaT bl SHIeUT FeidT &l

(d) This method helps in maintaining confidentiality. / Ig fafel Musitagdr geie
Z&ol f A ded! &l

15.

Given below are assumptions made by an entrepreneur in the breakeven-point
analysis for a multi-product business. Identify the correct pair of assumptions: /

ofld 9g-3cTe T & fAT dob-gdof fag fdeayuur & Teh et grer bl I18 emeunt <
0TS €1 STEl wiigt bt ugaTel ohe:

(i) The proportion of the sales mix must be predetermined. [ fach! fAS0T BT
3reuTd Ydfaterffed gl anfael

(i) The sales mix must change within the relevant period. / faicht fagror &1
U Th 3fafel &b eftde decsetl aIfet|

(iii) All costs can be categorized as variable or fixed. [ &8t STl oI Ufdadf
a1 fRre & U A avffpd fasar off Fehar gl

(iv) Sales price per unit, variable cost per unit, and total fixed cost are
calculated as per the forces of demand and supply. | vifd gopTe facht e,
Ufd sobTs ufdadt Td, 3 B I BRI AT 3112 3Tfd ot dicbdl & 37eldre




ITOTSTT &Y AT &
(v) All units produced are not sold. / &aft 3cTfed sehrsl bt facht oTal gidi &l

Choose the correct pair of assumptions: / @&l Tigt Tot:
(a) (i) and (iii)
(b) (i) and (iii)
(c) (iv) and (v)
(d) (i) and (iv)

16.

Identify which of the following is NOT a current asset for a furniture manufacturing
unit: / TgdTal fob foldolf3faid & & hiol Woffae folaffur gehlg o fST dTeg Ufedufd ofal &
(a) Debtors [ ¢alcre
(b) Outstanding expenses [ ShTIT oI
(c) stock of tables and chairs [ ¢85 3iie BT BT Tl
(d) Short-term investment | 3[cUdbIfeseh folder

17.

g J— acquisition, the purchasing company becomes a subsidiary of the
purchased company. | ........ 3IfEIIgUT &, Tdlare st Fdict 918 chuoit ohl HgMIh
b dof oilelt gl

(a) Friendly [ dzfiquf

(b) Reverse [ 3cCT
(c) Backflip | Shfthesq

(d) Hostile / ergdmgof

18.

Firefun Limited is an electrical appliance manufacturer and has introduced a
new induction cooker that minimizes electricity consumption and can also run
on backup battery power. The production team has begun manufacturing, and
selected customers will soon receive samples to assess the product's reliability
and quality. / TBRITHS fiAcs T fagd 3ucheu faidfdT & 31T &6 Toh ofdT S8aeldl
Pobe Uel T & 7t [duiest ol JUd bl @l thedl g 312 9Tt dhard U oft I achal
gl 3dTeel 2T o foIafur e[ ohe faaT € 3¢ viex & ol IC ATEh! Dl ITS bl
fasyereflardT 3iie IUTerd ol 3fTdhe3ol ol b ST ofdfal fGT HTe|

Which idea generation field is highlighted in the scenario? / & Ufdeed & Dol AT
faame 3@fd &7 3WPTE g3 &?

(a) Service-related | ddT-gafed

(b) Market driven [ SToTI2 Ufed

(c) Natural resources [ UTdhfdds TdTell

(d) Creative efforts [ TdoITcH b TITH




Tina is a young entrepreneur who started selling handmade hair extensions

*© online in 2010 after identifying a market gap. She observed that many girls
faced hair fall problems and discovered the high cost of hair extensions. She
started her own venture using real hair and sold them at affordable prices. /
2tell Teh gaT 3eat & fidal 2010 & 3ifeiesTgal gedfafdid alcs Tardcersl ddel dhl hid
e[& fohdl I&et Gl fob o efchdl ol dle> STgal ohl HASIT I Aol cheall Uedl &
3iie UTan fob 915 Tawicels 9gd J1edl Eid &1 ST 3eal 3reie! alel & Taeiceld
Jollohe 308 ded chididl U Sdell e& fabdnl
Which aspect of environmental scanning did Tina utilize? [ €lell o qgfaeu]
&h{olaT &b favel Ugey ohl UM fabarm?

(a) Better performance [ Sgd¢ Uqefel

(b) Grabbing opportunities from the market [ STGITE & 3l DI Udhgal
(c) Resource allocation | d&TET 3Tdcol

(d) All of the above | 3uelh et

20 | Marshall Company, a skincare product manufacturer in India, plans to expand
to the UK. To fund this expansion, they secured investments through a television
show where entrepreneurs invest in innovative ideas. [ #Tefe> UGfl, Tl 8iTed &
TAT SHHTS TG Falldl 8, b A fAEdTe deal bl ATuToll gall 2et &1 & fdedie & BT,
Jogiol Teb Salfautal eff & HATeddl & fotder Ured fasdr, oigi Jerefl o7t 3ie sTarardt faamel
3 foder ded 2l
Which type of funding did Marshall Company utilize? | #Tefes hUeft of fdsd UebTe
I TSI BT 3T fosar?

(a) Public issue / &Tduifeids g8
(b) Venture capital [ 3&rd Yoft
(c) Borrowing [ 3¢ITE el
(d) Angel investors [ Tuies folderdh
o1. | ldentify, which of the following is an advantage of issuing shares through a

‘Rights issue’? [ TTScd 5o o ALY & EIIe Uilel dheal I foldolfosfedd & & iol &l
T g2

(a) 1t is an inexpensive method of issuing shares. [ Tg &AL GITdT ol i el
fafer gl

(b) It leads to higher employee motivation and lower labor turnover. [ Ig 3
AT YU 3112 Tt 9/aT UHTIe G bl BIeUT JeidT &l

(c) It results in higher valuations of companies and better prestige. [ Tg cufadt
& I Hodichel 31T A& YA b BT daldl &l

(d) This method helps in maintaining confidentiality. / Ig fafel MYsfiadr geie
2HIal 3 AGE dhedl &l




Pizza and soft drinks like Pepsi are not the same products but cater to the same

2 industry. To expand its soft drink reach, Pepsi merged with Pizza Hut by making
it a subsidiary. The above is an example of: [ TUwal 3iie U o Ao faad
ATl 3G STl & ofdbel T &l J&WT bl AdT hed gl 3Ual Hire f3ch Iddd bl
faedre el & 5T, Uueft of fioull & ol 3Usfl HEIeh st delldhe faesd ahe fobd|
3UCich fa &I 361820 82
(a) Product Extension Merger [ 3dTc, fdedre faesd
(b) Vertical Merger | $eafere facsg
(c) Horizontal Merger | &ifdw faesa
(d) Market Extension Merger | STdTE faedTe fded

23| What creates perfection in the market and increases the volume of sales and

profit? [ STUATE & IchtedT Uel dhedT g 311 faich! 3ite &Tef ol AT J&TdT &:
(a) Marketing / fauuTel
(b) Flotation | Trealcerel
(c) Innovation [ STdTTe
(d) Location [ ZRITeT

24-| The characteristics of a company include: / T Uit &bt faaTarsil & enfee &
(1) Common seal | BidA Hid
(2) Perpetual succession [ ddd 3delfelehre
(3) Limited liability / &fifetd ¢adr
Choose the correct option:

(a) only (1) / 95aes (1)

(b) Both (1) and (2) / (1) 312 (2) gt

(c) only (2) / oae (2)

(d) Al (1), (2), and (3) [ @aft (1), (2), 3T (3)

25.

Which of the following is an element of sensing opportunities? | faldetfc3fEd & &
ol 3dee] Bl UgdTolol ol Teb dcd 87

(i) Insight into the change [ Ufdddol dht &aTaT

(i) Knowledge of competitors [ Ufdeufefat T SiTel

(iii) Ability to perceive | TTeTal bl &feTdT

(iv) Laziness of entrepreneurs | JEfAAT & 3Te5EIdIChoose the correct option:
(a) only (i) / e (i)

(b) only (iv) / &de (iv)

(c) (i), (i), and (iii) / (i), (i), 3 (i)

(d) (ii) and (iii) / (i) 32 (i)

31fd &g I usat




26.

What is the importance of environmental scanning for a business? | fobeft
AT & TS YATaeuT ShiolIl ol Hged T 82

27. | Define "idea fields" in entrepreneurship. [ JEfAdT & "3Tef3aT Hiegd” b ufdafid
&

28. | What is the purpose of a financial plan in a business plan? | T Aloiell &
faef YoTol ST 382 T 82

o9, | State one advantage of franchising for the franchisee. [ ShaTsufterdt & o
TSI T Toh 3187 JIdTC |

30. | Mention any one method of issue in the primary market. / TTIfAeh STuIe & 2l
TSt ool ol T fAfe Fde|

31. | What is meant by "Return on Investment (ROI)"? [ "faider e arueft (RoOI)" T T
3ref g2

32. | Define the term "merger.” [ A" elec ol UfRRHTST e

33. | What is meant by branding? / SifSd1 &1 &I Adcesd &7

34. | State one key difference between public and private companies. [ ATddfaich 3112
forft Shuferat o o T A5 3ide JdTt|

Short Answer Type Questions

35. | Explain the concept of opportunity and market assessment with an example. /
AT 3H1E TS Heidhol ohl AETZUT bl Teb IcTgeuT ob T HAC!

36. | What are the advantages of a sole proprietorship as a form of business? /
A & &Y 3 Thallol dlidicd o 18 ol 82

37. | Discuss the importance of a marketing plan for a business. [ fobefl ST & ST
faqUTeT AACIT &1 HAgcd Idf el

38. | What are the advantages and disadvantages of venture capital? / 4T bfUce
b w181 312 gIfel T 82

39. | How does inventory control affect the profitability of a business? [ gedcd! fald=u]
LTI Tl BT bl el YaiTfdd hed g?

40. | Differentiate between "angel investors” and "venture capitalists.” / "Culcs faiderapl”
31T "due Yufiafdal” & 3ide el

41. | Discuss the role of promotional strategies in enterprise marketing. / 38 faUuTel




& e ZuTefifad ot affatant Uz <rf &l

42.

Explain how mergers and acquisitions help in enterprise growth. / fd&d 31T

3IfETEUT 3ed dfes; bl AGe dhed &7

Long Answer Type Questions

43.

Explain the steps involved in sensing and evaluating entrepreneurial opportunities. /

Serdefles 3Iaedl ol Ugdlelel 3 Hoidhal chiol chi UfchdT & LU ohi TS dhe

44,

Desctribe the various components of a business plan. [ ST TTuTell & fafaleol Ted] ol
qufof &

45.

Elaborate on the concept of break-even analysis with a numerical example. / Sch-gdol
fAec5HUT &t 3{TETEUT Pl Th HEITIHD 3Cgeul & AT faedre & HAeC|

46.

Discuss the various marketing strategies involved in enterprise marketing. / 39 fauuTef &

enfdes fafeiest fauurel 2uresfifadal ue Taf el

47.

Explain the concept and types of franchising, along with advantages and limitations. /

5T ot AT 3T UdhIe! ol 3aTah aTaf e ftATail &5 dTel ST

48.

Discuss the features of Angel Investors and Venture Capital as sources of finance for a

new enterprise. [ ST 38 & o5C fod b &ild & &U A Toles fardeld! 3iie dae Yoft & faaivdrail
e Tdf &

Answer
1. (c) Mutual agency [ Gg&ue Tuief!
2. (c) It does not take into account the competitor's pricing and actions. [ Tg
gfareafelal & Ao foterfeur 3iie 3oTch dhedil i eTel A oIgt 2dll
3. (c) 1and 4/ Bacs 13T 4
4. (a) Product franchise business opportunity / 3T thTgul ST BT HTET
5. (b)1and2/13iig2
6. (b) Operational plan / UfddTcsel ool
;
8
9

. (b) Follow-up [ 3fefadt
. (c) Limited area of operation [ &ifAd T3l &7
. (a) 400
10. (a)land 2 /1322
1. (b) 24480
12. (b) Financing decision / faaaiyur faufg
13. (d) Return on investment / falder ue aruedt
14. (d) This method helps in maintaining confidentiality. / g fafel IMusftardr deie ¢a&iet
& G e Bl
15. (d) (i) and (iv)
16. (d) Short-term investment / 3[cUdhIfesad falder
17. (b) Reverse [ 3cCl
18. (b) Market driven [ dToT1e Ufed
19. (b) Grabbing opportunities from the market / STHTE & 3{ddel bl Udhgal
20. (b) Venture capital / 3&e1 Guit

21. (a) Itis an inexpensive method of issuing shares. [ Tg &I GTd deal chi et fafer gl




